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Vertical Division with aHelper Grid

Name:

Solve each problem.

Answers

1) 2) 3)
1.
43|5147 50{1700 92(4508
2.
3.
4.
5.
6.
%) 5) 6) !
7312628 2014551 976525 8.
9.
7) 8) 9)
8113750 9112276 235819
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 119r30 2) 34 3) 49 . 11930
43[5147 50[1700 92[4508
0 0 0 2 34
51 17 45
43 0 0 SR
84 170 450 . 36
43 150 368
417 200 828 s 227r11
387 200 828
30 0 0 6. 67126
7. 46124
4) 36 5) 227r11 6) 67126
73[2628 20[4551 976525 s 2511
0 0 0
26 45 65 J 253
0 40 0
262 55 652
219 40 582
438 151 705
438 140 679
0 11 26
7 46124 8) 2511 9 253
81[3750 91[2276 23[5819
0 0 0
37 22 58
0 0 46
375 227 121
324 182 115
510 456 69
486 455 69
24 1 0
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